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F=d

finclude <stdio.h>
finclude <sys/fentl.h>
Finclude <sys/types._h>
finclude <unistd.h>
#include <gignal.h>

my_prog.c

void cntl c_handler (int dummy) {
signal (SIGINT, entl c handler);
]

main{int argec , char argv)|
int waited;
int stat;
argy [o]="promt";
signal (SIGINT, cntl ¢ handler);

if (fork() = 0){ /* son */
execvp ("prompt”, argv[h]

1
alse | /* father -/

waited = wait(&stat);

printf ("My son (%d) has terminated\n®, waited) ;
}

1

main(int arge , char argv) | prompt.c
char buf [20];
while (1) {
printf ("Type something: ®);
gets (buf) ;
printf ("\nYou typed: $s\n", buf);
]
]
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Void main0 | =
boolean flag[2];
int turn = 0;
flag [0] = false
flag [1] = false
parbegin (PO, P1);

E-'uid POy}
while (true)
[
ﬂag lﬂ] = tl'LlE;
while (flag [1])
if (furn == 1)
[
ﬂag IU'I = fﬂIEE,;
while (fum == )
/*do nothing */;

ﬂag [ﬂi = mlE:

/* eritical section g
ni_'l'l'l_:'f;

flag [0] = false;

/* remainder * /e

tanYyYna

void P1{ )
f
while (true)
(
flag [1] ="true;
while (flag [0])
{
flag [1] = false;
while (turn == [}
/* donothing */;
flag [1] = true;
/* critical secion */;
turn = (;

Mlag [1] = false;
/* remainder */;
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Type something: Good luck
You Typed: Good luck
Type something: in rthe ¢
My son 139 has terminated.
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signal(SIGINT, entl ¢ handler):
1l !
signal(SIGINT, SIG IGN);

A0 NMTER

AT STME a1
ififork() =0)! /* son*/
signal(SIGINT, SIG_IGN);
execvp( "prompt”, argv);

msnnoe 3
Type something: Good luck
You Typed: Good luck
Type something: in the “z
This is a UNIX prompt—=>=hg
This 15 a UNIX prompt-—=>
i sl

Ssuspend -2¥17 foreground -2w NP0 DR oI — A7
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